Algebra I
Name:  _____________________________

Worksheet Gr8
Period: ______  Seat:  _______
Problems 1-6:

a. 
Use the slope formula to find the slope (reduced to lowest terms) of the line through the given points (show all work).

b.
Plot the points, draw the line, and give the slope (in lowest terms) from the graph.

c.
Give the y-intercept.

d.
Give an equation of the line.

1.
Points: (2, –6) and (8, 3)


a.  Slope by formula: 


b.  Slope from graph:


c.  y-intercept: 


d.  Equation:  ________________________ 


2.
Points: (–6, 8) and (3, 2)


a.  Slope by formula: 


b.  Slope from graph:


c.  y-intercept: 


d.  Equation:  ________________________ 


3.
Points: (–3, –2) and (6, 4)


a.  Slope by formula: 


b.  Slope from graph:


c.  y-intercept: 


d.  Equation:  ________________________ 


4.
Points: (–4, 1) and (2, –8)


a.  Slope by formula: 


b.  Slope from graph:


c.  y-intercept: 


d.  Equation:  ________________________ 


5.
Points: (3, 4) and (9, 6)

a.  Slope by formula: 


b.  Slope from graph:


c.  y-intercept: 


d.  Equation:  ________________________ 


6.
Points: (1, 6) and (3, 0)

a.  Slope by formula: 


b.  Slope from graph:


c.  y-intercept: 


d.  Equation:  ________________________ 

Problems 7-10: 

a.  Find the x- and y-intercepts of the line with the given equation.  (Show work.)

b.  Solve the equation for y.  (Show work.)

c.  Give the slope of the line.

d.  Plot the intercept with integer coordinates.

e.  Use the slope to plot two other points with integer coordinates, and draw the line.

7.
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x-intercept:  ________


y-intercept:  _________


Solve for y:


slope = _____


8.

[image: image2.wmf]4

3

8

x

y

-

=



x-intercept:  ________


y-intercept:  ________


Solve for y:


slope = _____


9.
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x-intercept:  ________


y-intercept:  ________


Solve for y:


slope = _____

10.
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x-intercept:  ________


y-intercept:  ________


Solve for y:


slope = _____
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